السؤال 1 
ناتج قسمة المقدار 
20 س2 - 5 س3 - 25 س
على المقدار 
- 5س 
يساوي

س2 - 4س + 5 
- س2 - 4س + 5 
- س2 + 4س + 5 
س2 + 4س - 5


السؤال 2 
قيمة المقدار 
لو (10 × 10-2 )
تساوي 


صفر 
2 
1 
-1

السؤال 3 
إن قيمة المقدار 
( 23 - 7 - 2 )2
يساوي 


16 
- 4 
صفر 
4
السؤال 4 
إذا كانت 
لو 10 = س 
فإن قيمة س تساوي 

10 
صفر 
3 
1

السؤال 5 
ناتج طرح المقدار 
3س2 - 5ص3 -2ع4 
من المقدار 
4ص3 + 2ع4 -3 س2
يساوي

9ص3 + 4 ع4 - 6س2
9ص3 - 4 ع4 - 6س2
- ص3 
ص3

السؤال 6 
الجذر التكعيبي للمقدار 
125 س-3 ص6 
يساوي 

-5 س ص2 
5 س ص2 
-5 س-1 ص2 
5 س-1 ص2 

